MAT2500-01/04 19S Quiz3  Print Name (Last, First) |

Show all work, including mental steps, in a clearly organized way that speaks for itself. Use proper mathematical
notation, identifying expressions by their proper symbols (introducing them if necessary), and use EQUAL SIGNS
and arrows when appropriate. Always SIMPLIFY expressions. BOX final short answers. LABEL parts of problem.
Keep answers EXACT (but give decimal approximations for interpretation). Indicate where technology is used and
what type (Maple, GC).
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your responses): N
a) Evaluate —r)'( 1), _r)"(t), I;)'( 0|, T(¢) and remember to simplify your results.

b) Evaluate _r)(O), —r)'(O ), -;"(0) , T(0) and remg)mber to sirll)plify your results.

c) Evaluate the exact angle 0 in radians between r'(0) and r"(0) and a single decimal place approximation in
degrees.

d) Evaluate the vector w which is the vector projection of 7"(0) orthogonal (perpendicular!) to 7'(0) .

P solution

-2t 2¢ 2= i, O
F(,D—: <eﬁ")ei, (Tf’/ > b) clo= <1, 1, >
oy = <2-2,47
Ty = <4 %47

@)
[ ~tt ¢
B = <zefyee T, (tre >
s ~24
filp = < 4e?f 427, (@ +(l+22:)2) e r .

- Caet aeTH, fra0CT o= DT 2Lz
T 1At {44t
Plol = Jacrae T+ (n et

-2k 2t
_ﬁ‘_(%\’_: =N _ (Zez't)-—ZSz') (t+2_£)e,z>
(r;‘fw\ J 4T 4e ©+ (e

Pl 41< L, 3,470= aE

NN — )\
— L4002 = <Y
F’”(O) 4@ o \f.}

; — \
(50 = ’(‘\‘(0) ‘j/"\@ = ";‘(7)’2)0 ‘_‘lé(b\;‘> = 3)\,@(7 %) N3 > O awte
O =arcex((G) = 189°

D e P0-Ros 4900 g~ F@Ts

(r—‘!(o\) U = %%(0):: %33- <2$'Z" \> = l§< 2,7, A> | = < %’v’ %) é-> }

(%)l: T —(‘57”-;)u = <‘('\4l'f>“<%r%1§"> = (5_@5_3)?;;99) x:9ﬁl>
k% 48 - $7n,9 |




